
SOLUTION: ​SPECTRA 

1 M   A      

 2  S   P  2 E 

     V  C D  

L J H A 1  B  O  

 C   L P 1  M  

O  2     S   

V S E L  2   C T 

 U R   2 R    

 1  K    1 2  

1    G A P  N  

 
Solving the akari puzzle gets you here: 

1 ●         

 2      ● 2  

 ●       ●  

   ● 1  ●    

  ●    1    

  2   ●     

  ●   2 ●    

    ● 2  ●   

● 1    ●  1 2 ● 

1        ●  



Color lightbulbs adjacent to a colored number. Overlay the letters… 

1 ●   A      

 2  S   P ● 2 E 

 ●    V  C ●  

L J H ● 1  ●  O  

 C ●  L P 1  M  

O  2   ●  S   

V S ● L  2 ●  C T 

 U R  ● 2 R ●   

● 1  K  ●  1 2 ● 

1    G A P  ●  

 
The color at any given square is determined by what color light rays intersect at that point. 

1 ●   A      

 2  S   P ● 2 E 

 ●    V  C ●  

L J H ● 1  ●  O  

 C ●  L P 1  M  

O  2   ●  S   

V S ● L  2 ●  C T 

 U R  ● 2 R ●   

● 1  K  ●  1 2 ● 

1    G A P  ●  



 
The remaining visible letters are “SPECTRA”. 
 


